No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
1	Pacific Homeworks	Torrance, CA	\$50,577,933	3,407	\$14,845	\$58,164,623			F
2	Alure Home Improvements	East Meadow, NY	\$41,468,458	1,621	\$25,582	\$43,000,000			F
3	Treeium Inc.	Valley Village, CA	\$33,768,625	1,300	\$16,000	\$38,000,000			F
4	BOWA	McLean, VA	\$31,086,000	37	\$738,627	\$34,800,000			F
5	Greater Dayton Construction	Beavercreek, OH	\$30,010,888	922	\$32,550	\$30,000,000	x		F
6	The Airoom Cos.	Lincolnwood, IL	\$30,000,000	220	\$143,500	\$30,000,000			DB
7	Case Design/Remodeling	Bethesda, MD	\$29,670,653	1,850	\$16,038	\$30,113,980			DB
8	G. Fisher Construction	Farmington Hills, MI	\$29,224,367	73	\$400,334	\$24,000,000			F
9	Neil Kelly Co.	Portland, OR	\$27,424,313	1,033	\$26,548	\$11,855,912			DB
10	Normandy Design Build Remod	Hinsdale, IL	\$24,025,953	229	\$104,917	\$2,500,000	x		DB
11	Allen Construction	Santa Barbara, CA	\$23,625,699	211	\$200,000	\$30,000,000		X	F
12	Brothers Services	Hampstead, MD	\$23,373,710	2,469	\$9,467	\$29,000,000		x	F
13	South Pointe Construction	Murrieta, CA	\$22,305,600	44	\$506,945	\$25,000,000			DB
14	McKinnis Inc.	Blair, NE	\$21,855,000	1,703	\$17,112	\$18,750,000			F
15	Rusk Renovations	New York, NY	\$21,510,584	12	\$1,492,396	\$25,000,000	x		F
16	Cape Associates	Eastham, MA	\$18,894,939	1,449	\$13,000	\$19,100,000	x		DB
17	Tundraland Home Improvemen	Kaukauna, WI	\$18,097,012	2,096	\$8,602	\$26,000,000	x		F
18	Gardner/Fox	Bryn Mawr, PA	\$15,195,649	223	\$68,141	\$8,000,000			DB
19	Jericho Home Improvements	Kansas City, KS	\$14,252,658	989	\$14,411	\$16,500,000	x		KB
20	Jackson Design and Remodelin	San Diego, CA	\$13,935,713	77	\$200	\$15,000,000	x	x	DB
21	McCutcheon Construction	Berkeley, CA	\$12,858,711	73	\$176,147	\$11,750,000			F
22	Mosby Building Arts	St. Louis, MO	\$12,335,579	481	\$24,000	\$14,537,000			F
23	Marrokal Design & Remodeling	San Diego, CA	\$12,231,782	59	\$181,822	\$15,000,000		X	DB
24	VMJR Companies	Glens Falls, NY	\$11,305,064	9	\$1,121,657	\$9,000,000			F
25	F.H. Perry Builder	Hopkinton, MA	\$10,984,290	95	\$800,000	\$7,500,000			F
26	DD Ford Construction	Santa Barbara, CA	\$10,235,123	26	\$518,213	\$5,429,987			F
27	Tim White Home Improvement	Massapequa, NY	\$9,875,000	430	\$25,000	\$10,400,000	x		F
28	Lars Remodeling & Design	San Diego, CA	\$9,423,545	43	\$200,000	\$11,000,000			DB
29	Pine Street Carpenters	West Chester, PA	\$9,265,000	162	\$57,191	\$9,300,000	x	X	F
30	Dave Fox Remodeling	Columbus, OH	\$9,031,507	122	\$72,985	\$9,600,000			DB
31	BACK Construction	Lexington, KY	\$9,020,636	1,012	\$8,913	\$9,000,000	x	X	F
32	Harrell Remodeling	Palo Alto, CA	\$8,970,280	137	\$65,476	\$10,000,000			DB
33	Landis / Architects Builders	Washington, DC	\$8,485,742	70	\$178,300	\$9,480,000		х	DB
34	Revision LLC	Wayzata, MN	\$8,221,679	23	\$385,000	\$8,500,000	X		F
35	Croom Construction	Vero Beach, FL	\$7,900,000	26	\$303,846	\$8,000,000	X		F
36	Kaz Companies	West Seneca, NY	\$7,867,228	1,400	\$5,500	\$8,000,000			F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
37	Baxter Construction	Hopewell, NJ	\$7,725,447	87	\$88,798	\$7,000,000	x	x	F
38	Impact Construction	Washington, DC	\$7,713,360	65	\$118,667	\$8,200,000			F
39	Platt Builders	Groton, MA	\$7,705,781	32	\$240,000	\$7,400,000			F
40	Case Design/Remodeling of In	Carmel, IN	\$7,588,453	241	\$31,312	\$8,500,000			DB
41	BNW Builders	Richmond, VA	\$7,574,932	480	\$15,781	\$7,500,000	x		F
42	Dexter Builders	Dexter, MI	\$7,507,268	744	\$12,040	\$7,700,000			DB
43	CG&S Design-Build	Austin, TX	\$7,080,371	78	\$90,773	\$7,937,000	x	x	DB
44	PBS Contractors	Naples, FL	\$6,250,000	35	\$156,000	\$9,500,000	x		F
45	USA Cabinet Store	Fairfax, VA	\$6,250,000	60	\$104,000	\$10,000,000			KB
46	Carnemark Design + Build	Bethesda, MD	\$6,143,190	18	\$341,288	\$5,800,000			DB
47	Craftsmanship by John	Houston, TX	\$6,075,800	44	\$168,700	\$7,500,000	x		DB
48	Neal's Construction	Cincinnati, OH	\$6,057,136	115	\$52,671	\$6,600,000		x	DB
49	Sea Pointe Construction	Irvine, CA	\$6,001,000	77	\$85,000	\$7,000,000	x		DB
50	Capizzi Home Improvement	Cotuit, MA	\$5,626,474	267	\$21,073	\$5,500,000			F
51	Battres Construction/BC Home	Santa Ana, CA	\$5,578,339	68	\$82,000	\$4,500,000			F
52	Feinmann Inc.	Arlington, MA	\$5,529,996	105	\$52,666	\$4,800,000			DB
53	Todd Whittaker Drywall	Peoria, AZ	\$5,490,000	320	\$16,000	\$5,500,000			F
54	DWR Construction	Spring, TX	\$5,444,071	326	\$16,500	\$5,500,000			DB
55	Harwick Homes	Bonita Springs, FL	\$5,441,977	40	\$357,051	\$5,000,000			F
56	Mil-Ron Custom Construction	Murphy, TX	\$5,437,890	40	\$150,000	\$3,800,000			F
57	Mountainwood Homes	Beaverton, OR	\$5,327,192	85	\$62,673	\$5,500,000			F
58	Synergy Builders	West Chicago, IL	\$5,310,462	84	\$62,500	\$5,560,000	x		DB
59	Amsted Design-Build	Ottawa, ON	\$5,300,000	38	\$140,000	\$8,000,000	x	x	DB
60	Chermak Construction	Edmonds, WA	\$5,268,445	145	\$36,334	\$6,200,000			F
61	Harvey Remodeling	Shrewsbury, MA	\$5,266,082	154	\$34,195	\$6,000,000			DB
62	Drake Homes	Birmingham, AL	\$5,221,331	24	\$159,090	\$7,000,000	x		DB
63	Design Builders & Remodeling	Ridgefield, CT	\$5,220,010	26	\$200,769	\$6,000,000	x		DB
64	Harth Builders	Ambler, PA	\$5,210,513	98	\$55,000	\$5,500,000	x	x	DB
65	Castle Building & Remodeling	Minneapolis, MN	\$5,206,601	281	\$16,377	\$5,400,000	x		DB
66	Foster Remodeling Solutions	Lorton, VA	\$5,124,170	139	\$31,071	\$4,500,000		x	DB
67	Blackdog Design/Build/Remode	Salem, NH	\$5,109,029	89	\$60,000	\$6,250,008			DB
68	Woodbridge Builders	Kenilworth, NJ	\$5,100,000	60	\$85,000	\$5,200,000			DB
69	Case Design/Remodeling of Sa	San Jose, CA	\$5,072,209	372	\$13,634	\$5,400,000	X	х	F
70	S.E.A. Construction	San Mateo, CA	\$5,023,512	33	\$162,000	\$5,000,000			DB
71	Brindisi Builders	Marlton, NJ	\$4,929,217	101	\$49,000	\$5,500,000			F
72	Custom Contracting	Arlington, MA	\$4,914,031	190	\$25,863	\$5,405,434	x		F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
73	Karp Associates	New Canaan, CT	\$4,823,620	19	\$250,000	\$3,000,000	x		F
74	Provenance Builders	Dallas, TX	\$4,800,000	6	\$1,500,000	\$6,000,000			F
75	Custom Development of Califor	North Highlands, CA	\$4,775,947	401	\$11,910	\$7,000,000			F
76	Merrick Construction	Little Silver, NJ	\$4,766,000	30	\$148,000	\$4,200,000	x		F
77	The Remodeling Company	Beverly, MA	\$4,758,842	137	\$34,736	\$4,800,000	x		F
78	MOSAIC Group [Architects and	Atlanta, GA	\$4,700,000	29	\$160,000	\$4,500,000	x	х	DB
79	T Hurt Construction	Omaha, NE	\$4,555,854	80	\$56,948	\$400,000			F
80	Father & Son Construction	Troy, MI	\$4,531,779	442	\$10,253	\$4,570,000	x		F
81	Happe & Sons Construction	Evansville, IN	\$4,527,198	725	\$6,244	\$4,200,000	x		F
82	Renewal Design-Build	Decatur, GA	\$4,386,436	21	\$191,535	\$4,700,000			DB
83	Hurst Remodel Design Build	Middleburg Heights, OH	\$4,356,765	62	\$70,270	\$4,250,000		Х	DB
84	Distinctive Design Remodeling	Lexington, KY	\$4,335,135	35	\$36,450	\$1,300,000	x		DB
85	FRED Home Improvement	Bethesda, MD	\$4,333,876	386	\$3,348	\$5,178,721			F
86	New Outlooks Construction Gro	Robbinsville, NJ	\$4,311,164	466	\$9,252	\$5,000,000	x	х	DB
87	Custom Design & Construction	El Segundo, CA	\$4,189,000	23	\$180,000	\$5,000,000	x	Х	DB
88	Tri-State Creations	Conshohocken, PA	\$4,125,875	306	\$13,483	\$4,500,000			F
89	Jerry Harris Remodeling	Chesapeake, VA	\$4,113,712	236	\$17,175	\$4,200,000			F
90	Cruickshank	Atlanta, GA	\$4,110,013	8,500	\$485	\$505,000		х	F
91	Applied Contracting Sevices	Winter Garden, FL	\$4,079,359	112	\$36,423	\$4,800,000			F
92	Murphy Bros. Design Build R	Minneapolis, MN	\$4,042,130	71	\$56,931	\$5,000,000	x		DB
93	Magee Construction	Cedar Falls, IA	\$4,021,426	520	\$7,733	\$5,500,000			DB
94	Cipriani Remodeling Solutions	Woodbury, NJ	\$4,000,000	65	\$62,000	\$4,500,000			DB
94	Gruver Cooley	Purcellville, VA	\$4,000,000	20	\$200,000	\$3,500,000	x		F
96	Leff Construction - Design/Build	Sebastopol, CA	\$3,995,014	23	\$199,316	\$4,500,000	x	x	DB
97	Dream Design Builders	San Diego, CA	\$3,989,002	24	\$241,000	\$6,000,000	x		F
98	Hubert Whitlock Builders	Charlotte, NC	\$3,978,420	20	\$200,000	\$6,500,000			F
99	Designs by Maida	Rolling Meadows, IL	\$3,976,011	16	\$267,500	\$4,000,000	x		DB
100	Finished Basements Plus	Wixom, MI	\$3,969,836	86	\$40,905	\$1,200,000			DB
101	Valley Home Improvement	northampton, MA	\$3,960,000	123	\$21,827	\$5,100,000	x		DB
102	Hogan Design & Constrcution	Geneva, IL	\$3,950,000	53	\$54,716	\$5,000,000	x		DB
103	Lone Star State Construction	San Antonio, TX	\$3,918,157	98	\$39,000	\$5,600,000	x		F
104	Team Farrell	Port Richey, FL	\$3,906,105	500	\$7,812	\$4,300,000			KB
105	Thorson Restoration and Const	Bridgewater, MA	\$3,887,575	139	\$28,000	\$4,117,200	х		F
106	The Kingston Group	Nashville, TN	\$3,749,107	25	\$149,950	\$3,500,000	х		DB
107	Interiorworx	Phoenix, AZ	\$3,664,701	550	\$6,633	\$5,000,000			F
108	Southern MD Kitchen Bath Floo	California, MD	\$3,641,129	317	\$11,486	\$3,000,000	x		KB

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
109	Advance Design Studio	Union, IL	\$3,619,060	91	\$50,000	\$4,100,000	x	X	DB
110	Kasper Custom Remodeling	Dallas, TX	\$3,523,234	24	\$146,801	\$3,719,000			F
111	Classic Home Improvements	Escondido, CA	\$3,520,513	134	\$23,617	\$4,800,000	x		F
112	Glickman Design Build	Rockville, MD	\$3,511,743	25	\$14,046,972	\$4,193,000	x		DB
113	Red Level Renovations	Atlanta, GA	\$3,416,981	10	\$340,000	\$3,200,000			F
114	RisherMartin Fine Homes	Austin, TX	\$3,405,899	6	\$567,650	\$8,225,000	x	х	F
115	Merrick Design and Build	Kensington, MD	\$3,356,017	383	\$8,762	\$3,300,000	x		0
116	RI Kitchen & Bath	Warwick, RI	\$3,354,236	77	\$43,561	\$3,850,000			DB
117	Remodeling Concepts	Feasterville Trevose, PA	\$3,251,108	191	\$17,021	\$4,000,000	x		F
118	Blue Sky Remodeling	Broomfield, CO	\$3,245,120	34	\$107,000	\$3,100,000	x		F
119	Greymark Construction	Houston, TX	\$3,228,953	26	\$110,000	\$3,200,000	x		DB
120	Clairmont Ltd.	Burr Ridge, IL	\$3,200,000	28	\$115,000	\$3,300,000			DB
120	JKC Inc.	Flagstaff, AZ	\$3,200,000	170	\$25,000	\$3,200,000			F
122	RAMS Investing	Greenwood, IN	\$3,175,506	20	\$158,775	\$4,000,000	x		F
123	AM Kitchen & Bath	Yorkville, IL	\$3,147,000	154	\$20,435	\$4,200,000			KB
124	KCH Contracting	Scotch Plains, NJ	\$3,115,618	16	\$150,000	\$3,300,000	x		F
125	Classic Homeworks	Denver, CO	\$3,091,329	21	\$137,412	\$3,203,100	x	x	DB
126	JEB Design/Build	Shreveport, LA	\$3,085,000	31	\$87,850	\$2,500,000		x	DB
127	White Crane Construction	Minneapolis, MN	\$3,077,228	41	\$70,000	\$1,247,400			DB
128	Kreative Resources	Altamonte Springs, FL	\$3,000,000	175	\$17,000	\$3,250,000			F
129	Hatfield Builders & Remodelers	Plano, TX	\$2,986,155	29	\$102,971	\$3,100,000	x	x	DB
130	Two Storey Building	Bolton, MA	\$2,981,616	22	\$150,000	\$2,500,000	x	x	DB
131	Amiano & Son Construction	Tabernacle, NJ	\$2,981,527	27	\$103,300	\$3,600,000	x		DB
132	Bottos Construction	Broomall, PA	\$2,975,000	45	\$66,111	\$2,600,000			F
133	BH Design + Build	Mohnton, PA	\$2,974,839	23	\$130,000	\$2,600,000			DB
134	HWC Home Works	Wyoming, MI	\$2,953,517	251	\$11,767	\$3,000,000	x		KB
135	Kaufman Construction	West Des Moines, IA	\$2,945,218	400	\$7,362	\$2,400,000	x		DB
136	G Little Inc.	Port Townsend, WA	\$2,941,678	47	\$30,000	\$3,500,000	x	x	F
137	FOXCRAFT Design Group	Falls Church, VA	\$2,937,000	42	\$69,928	\$3,000,000	x		DB
138	Hawk Construction	Littleton, CO	\$2,920,624	55	\$53,102	\$3,400,000			DB
139	Elite Remodeling	Frisco, TX	\$2,900,000	63	\$42,222	\$3,100,000	x		F
140	D&B Elite	Wyomissing, PA	\$2,876,505	68	\$42,000	\$4,000,000			DB
141	Winston Brown Construction	Topeka, KS	\$2,868,389	115	\$24,942	\$400,000			DB
142	Neill and Lee Contractors	San Francisco, CA	\$2,842,104	50	\$29,829	\$3,500,000			F
143	C&R Remodeling	Salem, OR	\$2,805,673	57	\$36,198	\$975,000			DB
144	Schorr Construction	Verona, WI	\$2,772,278	47	\$60,000	\$3,000,000			F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
145	D'ambra Construction	Huntington Beach, CA	\$2,725,000	25	\$110,000	\$4,500,000			DB
146	Kliethermes Homes & Remodel	Columbia, MO	\$2,718,467	81	\$33,561	\$3,000,000		х	DB
147	Forward Design Build	Ann Arbor, MI	\$2,704,668	15	\$180,000	\$3,000,000	x		DB
148	AIM Kitchen & Bath	Des Moines, IA	\$2,650,000	115	\$23,043	\$2,750,000			KB
149	Uniplex Construction	Redmond, WA	\$2,616,516	44	\$59,466	\$6,500,000	x		F
150	Sustainable Solutions of Virgini	Harrisonburg, VA	\$2,597,968	25	\$103,918	\$2,660,000			F
151	Dale's Remodeling	Salem, OR	\$2,590,883	102	\$25,400	\$2,300,000			DB
152	Boardwalk Builders	Rehoboth Beach, DE	\$2,588,625	62	\$41,000	\$3,200,000		X	F
153	Booher Remodeling	Brownsburg, IN	\$2,562,755	162	\$15,819	\$3,500,000			KB
154	Owings Home Services	Eldersburg, MD	\$2,559,642	41	\$55,560	\$2,500,000	x		KB
155	One Call Services	Lewes, DE	\$2,558,622	409	\$6,255	\$2,800,000			F
156	Knockout Renovation Services	New York, NY	\$2,530,000	23	\$110,000	\$3,000,000	x		F
157	A.C. Ernst Building Corp.	Oviedo, FL	\$2,521,112	338	\$7,459	\$2,800,000			F
158	Iron River Construction	Chaska, MN	\$2,510,000	135	\$18,500	\$3,100,000	x		F
159	Transitions Remodeling	Famington Hills, MI	\$2,501,341	170	\$17,000	\$28,000,000			DB
160	Starcom Design/ Build	Columbia, MD	\$2,500,000	40	\$62,500	\$2,500,000	x		F
160	The Garcilazo Group	Vernon Hills, IL	\$2,500,000	98	\$65,000	\$3,000,000	x		F
162	Strite design + remodel	Boise, ID	\$2,476,170	42	\$58,674	\$2,650,000			DB
163	Soledad Builders	Austin, TX	\$2,455,000	8	\$306,875	\$2,125,000			F
164	MARK IV Builders	Cabin John, MD	\$2,434,258	20	\$121,713	\$3,200,000			DB
165	Southland Development Servic	Peachtree Corners, GA	\$2,421,027	58	\$45,000	\$2,200,000	x		F
166	Living Improvements	Stafford, TX	\$2,415,985	99	\$24,404	\$2,850,000		x	F
167	JR Hammel Construction Servi	Carrollton, TX	\$2,413,836	16	\$150,865	\$3,200,000			DB
168	Building Co. No. 7	Nashville, TN	\$2,406,160	13	\$225,000	\$6,000,000			F
169	Baine Contracting	Point Pleasant, NJ	\$2,396,395	25	\$95,000	\$2,765,000	x	X	F
170	Neighborhood Commercial	Atlanta, GA	\$2,395,481	152	\$15,800	\$2,500,000			F
171	Platinum Remodeling and Han	Minneapolis, MN	\$2,377,602	67	\$35,487	\$2,750,000	x		F
172	New England Design & Constru	Boston, MA	\$2,360,000	15	\$150,000	\$3,200,000	x	x	DB
173	Fischer Construction	Los Angeles, CA	\$2,344,308	3	\$1,054,481	\$3,000,000			F
174	Kuhn Construction	Islip, NY	\$2,331,556	117	\$14,850	\$2,400,000	x	x	DB
175	Daniel Builders	Anderson, SC	\$2,300,000	75	\$35,000	\$3,200,000		x	F
176	J Brothers Home Improvement	Maple Grove, MN	\$2,294,801	87	\$26,000	\$2,700,000		x	F
177	D.R. Domenichini Construction	San Martin, CA	\$2,291,277	73	\$31,387	\$2,400,000			KB
178	DiStefano Brothers Constructio	Wakefield, RI	\$2,250,000	69	\$33,000	\$2,950,000	х		KB
179	JMC Development	Parsippany, NJ	\$2,222,120	46	\$48,307	\$2,475,000	х	x	F
180	Penn Contractors	Emmaus, PA	\$2,220,643	53	\$41,630	\$1,750,000	x	х	DB

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
181	The Cleary Company	Columbus, OH	\$2,209,600	29	\$76,193	\$1,037,658	x	x	DB
182	Kowalski Construction	Phoenix, AZ	\$2,198,000	32	\$7,725	\$2,800,000			F
183	Purpose Driven Restoration	Elk River, MN	\$2,188,400	45	\$41,344	\$2,300,000			F
184	McBride Construction	Petoskey, MI	\$2,184,398	59	\$40,161	\$489,750			DB
185	Federalist Builders	Washington, DC	\$2,183,185	35	\$62,377	\$2,000,000	x		F
186	DiFabion Remodeling	Indian Trail, NC	\$2,150,000	32	\$67,000	\$2,500,000	x		DB
186	York Enterprises	Tacoma, WA	\$2,150,000	115	\$19,000	\$2,300,000	x		F
188	Lenton Co.	Palmdale, CA	\$2,124,580	55	\$38,628	\$1,800,000		x	KB
189	Wadden Construction	Herndon, VA	\$2,112,123	120	\$17,601	\$3,000,000			F
190	Golden Rule Builders	Catlett, VA	\$2,100,000	20	\$105,000	\$2,400,500	x		F
190	Rick Brauchler Jr. & Co.	Clinton, CT	\$2,100,000	24	\$87,500	\$3,100,000			F
192	Crossroads Contracting	Londonderry, NH	\$2,073,911	52	\$39,882	\$2,300,000	x		F
193	John H. Allen Construction	Jackson, TN	\$2,071,239	1,600	\$1,295	\$600,000			F
194	Atlanta Design & Build	Marietta, GA	\$2,061,842	26	\$63,495	\$2,400,000	x	x	DB
195	Remodelers of Houston	Houston, TX	\$2,020,777	13	\$156,000	\$4,000,000			DB
196	Bennett Builders & Remodelers	Westlake, OH	\$2,010,655	57	\$35,275	\$2,750,000.0			F
197	KraftMaster Renovations	Chatham, NJ	\$1,987,500	30	\$66,250	\$1,750,000	x		F
198	E.A. Knight Construction	Carterville, IL	\$1,973,140	349	\$6,600	\$1,800,000	x	x	F
199	Bayberry Building	Bozeman, MT	\$1,960,000	15	\$130,000	\$2,500,000			F
200	Almar Building & Remodeling	Hanover, MA	\$1,959,133	79	\$24,799	\$1,800,000	x		F
201	Home Masters	Las Vegas, NV	\$1,942,928	155	\$12,500	\$2,400,000			KB
202	Newday Development	Sherman Oaks, CA	\$1,939,899	20	\$96,995	\$2,250,000			F
203	McDowell Remodeling	St. Charles, IL	\$1,900,000	111	\$17,512	\$3,000,000			F
204	Quality P.M.	Delmar, NY	\$1,900,000	28	\$70,000	\$2,200,000			DB
205	Pierpoint Construction	Stafford, VA	\$1,875,000	200	\$25,000	\$50,000	x	x	F
206	All Pro Builders	Fullerton, CA	\$1,872,458	68	\$27,000	\$1,800,000	x		DB
207	Apter Remodeling/Craftsman	Annapolis, MD	\$1,870,000	46	\$40,600	\$1,800,000	x	x	F
208	Imperial Kitchens and Baths	Brookfield, IL	\$1,860,077	150	\$12,638	\$2,000,000	x		KB
209	Distinctive Remodeling Solution	Roswell, GA	\$1,859,978	18	\$103,332	\$2,100,000	x	x	DB
210	Lincorp	Washington, MI	\$1,856,120	55	\$70,000	\$3,000,000	x		DB
211	E.D. Enterprises	Arlington Heights, IL	\$1,852,001	65	\$28,492	\$2,000,000			KB
212	Remodeling Designs	Dayton, OH	\$1,807,659	38	\$47,570	\$2,090,000			DB
213	Winthorpe Design & Build	Highland, MD	\$1,801,320	18	\$100,000	\$1,900,000			DB
214	Beattie Development	Cape Coral, FL	\$1,800,000	28	\$64,280	\$2,000,000	х		DB
214	dRemodeling	Philadelphia, PA	\$1,800,000	55	\$35,000	\$2,150,000	х		DB
216	Skydell Contracting	Manville, NJ	\$1,797,639	57	\$31,537	\$1,868,985	х		F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
217	Genereve Construction	Miami, FL	\$1,789,956	7	\$150,000	\$1,894,900			F
218	Meyer Contracting	Maryland Heights, MO	\$1,779,367	74	\$24,045	\$1,900,000			F
219	Total Home Construction	Melville, NY	\$1,766,273	180	\$10,000	\$2,000,000	x		F
220	HDR Remodeling a Honey Do	Berkeley, CA	\$1,762,780	35	\$50,365	\$2,044,825	x		DB
221	Pryor Construction	Chicago, IL	\$1,760,000	27	\$65,000	\$1,850,000			F
222	VPC Builders	Banner Elk, NC	\$1,750,000	100	\$17,500	\$1,850,000			F
223	Duncan's Bath & Kitchen Cente	Poland, OH	\$1,725,833	148	\$11,700	\$2,550,000			KB
224	Scholl Construction	Crystal Lake, IL	\$1,720,381	20	\$60,000	\$2,000,000			F
225	Schulte Construction	Seattle, WA	\$1,675,000	19	\$88,158	\$1,800,000			DB
226	Criner Remodeling	Newport News, VA	\$1,669,257	35	\$47,693	\$2,100,000		x	F
227	Red House Remodeling	West Des Moines, IA	\$1,658,052	31	\$58,579	\$1,700,000	x		DB
228	Daniels Design and Remodelin	Fairfax, VA	\$1,650,738	16	\$103,000	\$2,700,000			DB
229	Kreider & Diller Builders	Lancaster, PA	\$1,645,045	26	\$50,000	\$1,600,000			F
230	Envision Design Build	Houston, TX	\$1,638,900	5	327000	\$1,400,000			DB
231	Clark Renovations	Bethel Park, PA	\$1,627,922	91	\$32,000	\$1,953,506			F
232	Virginia Tradition Builders	Richmond, VA	\$1,624,000	46	\$35,300	\$1,786,000			F
233	Building Lab	Oakland, CA	\$1,615,000	5	\$150,000	\$900,000	x		DB
234	McHales, KBA	Levittown, PA	\$1,600,000	78	\$20,000	\$2,200,000			KB
235	Quality Renovations & Home S	Berthoud, CO	\$1,598,354	37	\$41,875	\$1,850,000		X	F
236	Pittsburgh Remodeling	Bethel Park, PA	\$1,586,890	37	\$42,889	\$2,200,000			F
237	Matera Builders	Ocean City, NJ	\$1,575,432	45	\$35,000	\$1,700,000			F
238	Upscale Remodeling	Freeville, NY	\$1,574,920	62	\$25,402	\$1,900,000		x	F
239	CBI Remodel	Salem, OR	\$1,565,750	65	\$24,088	\$1,750,000			F
240	Mission Kitchen & Bath	Mission, AR	\$1,556,981	72	\$21,624	\$1,526,800	x		KB
241	The Casali Companies	Bethel, CT	\$1,550,523	4	\$387,500	\$1,823,000			F
242	Built Square	Seattle, WA	\$1,546,314	16	\$97,760	\$1,750,000			F
243	PDQ Construction	Topeka, KS	\$1,534,536	180	\$8,525	\$1,600,000			F
244	Creative Property Restoration	Houston, TX	\$1,530,000	29	\$53,512	\$1,600,000	x		DB
245	Liv Companies	Riverside, IL	\$1,528,600	46	\$33,000	\$2,000,000	x		DB
246	Ventana Construction	SEATTLE, WA	\$1,518,127	24	\$80,901	\$2,000,000	x		F
247	H&H Builders	Denver, CO	\$1,512,589	6	\$294,000	\$1,704,180	x		DB
248	Rochman Design Build	Ann Arbor, MI	\$1,512,467	11	\$137,497	\$1,700,000	х	x	DB
249	Bailey Remodeling	Louisville, KY	\$1,507,443	30	\$50,248	\$1,750,000		x	DB
250	Ryne-Wood Builders	Muncie, IN	\$1,504,000	100	\$15,040	\$850,000			F
251	Alloy Architecture and Construc	Charlottesville, VA	\$1,503,336	13	\$115,641	\$1,500,000			DB
252	MP Construction & Excavation	Mount Airy, MD	\$1,460,333	34	\$50,000	\$1,600,000			F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
253	Souris River Designs	Minot, ND	\$1,452,437	45	\$32,276	\$1,482,500			DB
254	New Dimension Construction	Millbrook, NY	\$1,429,000	10	\$142,900	\$2,400,000			F
255	Pathway Design & Construction	Seattle, WA	\$1,427,850	22	\$68,000	\$2,000,000	x		F
256	Liberty Hill Construction	Bedford, NH	\$1,415,500	35	\$40,443	\$3,500,000	x		DB
257	HoBart Builders	Columbus, GA	\$1,413,827	36	\$39,273	\$1,500,000			F
258	Classic Remodeling NW	Everett, WA	\$1,413,365	47	\$30,072	\$1,750,000	x		F
259	DreamMaker Bath & Kitchen of	Bakersfield, CA	\$1,360,631	48	\$37,577	\$1,700,000	x		KB
260	Riverside Construction	West Lafayette, IN	\$1,360,175	47	\$30,091	\$1,500,000	x		DB
261	Renaissance Remodeling	Boise, ID	\$1,358,337	22	\$61,742	\$1,800,000	x		DB
262	Unlimited Building Services	Palatine, IL	\$1,346,521	8	\$168,315	\$1,750,000			DB
263	Brighton Home Products	Chicago, IL	\$1,338,875	272	\$4,922	\$1,400,000			F
264	KGT Remodeling	Naples, FL	\$1,333,890	19	\$70,205	\$1,400,000			DB
265	Cosello Construction	Cherry Hill, NJ	\$1,325,000	50	\$25,000	\$1,600,000			F
266	Renovations	Prescott, AZ	\$1,269,251	62	\$20,471	\$1,600,000	x		DB
267	Leo Lantz Construction	Glen Allen, VA	\$1,266,175	50	\$25,323	\$1,100,000	x		KB
268	J&F Specialties	Springfield, VA	\$1,264,378	65	\$19,451	\$1,400,000		x	F
269	Chagrin River Co.	Chardon, OH	\$1,258,000	23	\$54,000	\$1,400,000	x		F
270	ConSpec Building Systems	Pasadena, CA	\$1,254,323	8	\$156,790	\$1,250,000			DB
271	Urias Custom Remodeling	Oro Valley, AZ	\$1,250,120	30	\$25,225	\$1,450,250			KB
272	Axis Construction	Wichita Falls, TX	\$1,250,000	23	\$63,969	\$1,350,000		x	F
272	Legacy Remodeling Team	Hudson, OH	\$1,250,000	91	\$19,570	\$2,000,000	x		F
274	Maughan Design	Portland, OR	\$1,242,244	15	\$82,807	\$1,320,000			DB
275	Banner Property Management	Metairie, LA	\$1,218,567	29	\$42,000	\$1,300,000		x	F
276	Kitsap Kitchen & Bath	Poulsbo, WA	\$1,213,985	43	\$32,000	\$1,500,000	x		F
277	Brown Building Contractors	Olympia, WA	\$1,203,000	24	\$50,125	\$1,300,000			F
278	1st Choice Builders	Stillwater, MN	\$1,200,000	7	\$300,000	\$2,600,000			F
279	Cunningham Contracting	Williamsburg, VA	\$1,200,000	80	\$15,000	\$1,350,000	x		DB
280	Falcon Design Build	Decatur, GA	\$1,197,876	7	\$171,125	\$1,400,000			DB
281	Pfeiffer Building	Peachtree City, GA	\$1,197,195	62	\$20,000	\$1,400,000			F
282	Erik Block Design Build	Hadlyme, CT	\$1,181,220	17	\$78,000	\$1,500,000	x		DB
283	Cutting Edge Builders	Grand Rapids, MI	\$1,172,790	25	\$46,912	\$1,500,000			DB
284	Elevate Design Build	Crofton, MD	\$1,168,810	11	\$106,255	\$1,400,000			DB
285	Bender Construction	Lafayette, IN	\$1,167,954	52	\$22,460	\$950,000			F
286	Bath Plus Kitchen Remodeling	Fairfax, VA	\$1,152,612	34	\$33,652	\$1,300,000			KB
287	Stone Creek Custom Interiors	Amery, WI	\$1,150,040	114	\$10,088	\$1,300,000			KB
288	One Man and a Hammer	Mentor, OH	\$1,147,000	52	\$22,058	\$1,239,000	x	x	F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
289	SEI Construction	Westfield, NJ	\$1,145,294	20	\$57,264	\$1,300,000			F
290	Renovate & Restore	Naples, FL	\$1,103,885	8	\$137,986	\$1,200,000	x		F
291	CORE Remodeling Services	Oxford, MA	\$1,100,000	40	\$27,300	\$1,400,000		х	DB
292	RPM General Contractors	Pompano Beach, FL	\$1,079,456	91	\$32,000	\$2,545,000			F
293	DreamMaker Bath & Kitchen of	Saint Louis Park, MN	\$1,054,139	39	\$26,849	\$1,500,000			KB
294	Gammill Construction	Boise, ID	\$1,052,460	37	\$28,445	\$375,000			F
295	Eastern Virginia Development	Virginia Beach, VA	\$1,050,000	12	\$85,000	\$1,350,000			DB
296	Ronald L. Dimon Construction	Manlius, NY	\$1,041,937	54	\$19,307	\$407,000			DB
297	John Rogers Renovations	Woodstock, GA	\$1,016,590	22	\$46,209	\$1,200,000			DB
298	Ingram Bay Homes	Reedville, VA	\$1,006,027	32	\$31,500	\$1,100,000			F
299	Rolf Schroeder General Contra	Ivyland, PA	\$1,001,894	25	\$40,076	\$1,050,000	x	x	DB
300	Joel Cole Construction	Aberdeen, WA	\$999,157	46	\$20,000	\$1,600,000			F
301	Hunter Construction	Mission Viejo, CA	\$997,086	7	\$142,441	\$1,100,000			DB
302	Pedigo Construction Group	Plano, TX	\$989,500	40	\$25,000	\$1,100,000			F
303	Gialluisi Custom Homes II	Westfield, NJ	\$975,000	100	\$9,750	\$1,500,000			F
304	Remodel Tempe	Tempe, AZ	\$966,373	13	\$75,000	\$1,200,000			DB
305	Grade A Home Improvement	Middlefield, CT	\$965,000	93	\$11,700	\$1,600,000			F
306	Handyman Guys	Columbus, OH	\$950,000	200	\$4,750	\$1,200,000	x		F
306	Welker Custom Homes	Owatonna, MN	\$950,000	57	\$16,600	\$1,800,000			F
308	Key Residential	Farmers Branch, TX	\$940,000	27	\$35,000	\$1,000,000	x		F
309	Post and Beam Design Build	Jarrettsville, MD	\$933,125	36	\$22,386	\$525,020	x		DB
310	Renaissance Company	Greenville, SC	\$925,288	15	\$61,686	\$275,000			F
311	Morales Brothers Construction	Rosenberg, TX	\$900,000	30	\$40,000	\$1,000,000			KB
312	Lambert O'Neill Construction	Charlotte Harbor, FL	\$850,044	13	\$65,388	\$950,000			F
313	Gibson Family Construction	Seal Beach, CA	\$850,000	20	\$42,500	\$900,000			F
314	Pendulum Solutions Design/Bui	Wayne,, PA	\$847,500	142	\$5,968	\$1,100,000	x		F
315	Longacre Construction	Lewisville, TX	\$841,586	34	\$24,752	\$1,125,000	x		F
316	New England Kitchen & Bath	Warren, RI	\$820,213	55	\$18,131	\$900,000			KB
317	Pittsburgh Basement	Monroeville, PA	\$800,000	15	\$45,000	\$1,300,000			DB
318	Webber Development & Constr	Watkinsville, GA	\$800,000	20	\$40,000	\$1,100,000	x		KB
319	ReCraft	Portland, OR	\$795,266	10	\$79,527	\$1,200,000			F
320	Castle Building	Parker, CO	\$793,139	12	\$66,095	\$950,500			DB
321	Majesty Homes	Centreville, VA	\$775,830	72	\$10,775	\$200,000			F
322	Cartage Home Remodeling	Northlake, IL	\$750,000	50	\$6,500	\$150,000			DB
322	First Choice	Pittsfield, MA	\$750,000	11	\$68,000	\$1,000,000			F
324	Miller Construction	Norton, MA	\$740,067	34	\$25,000	\$750,000			F

No.	Company Name	Location	2015 Remodeling Reven	No. of Jobs	Avg. Job Price	2016 Revenue	Big50	GQ Servic	Business Focu
325	Burr Remodeling	Plymouth, MA	\$694,285	29	\$23,940	\$725,000			F
326	HC Remodel & Design	Council Bluffs, IA	\$676,982	18	\$38,000	\$950,000	x		F
327	MN Reale Construction	Branford, CT	\$675,000	44	\$15,000	\$480,000	X		DB
328	Hiline Builders	Fair Oaks, CA	\$632,117	5	\$174,000	\$670,000		x	DB
329	Crown Point Builders	Garner, IA	\$618,284	42	\$14,721	\$930,000			DB
330	Omnia Construction	Cornelius, NC	\$540,000	16	\$33,750	\$800,000	X		F
331	Kltchen Bath & Glass Center	Rockledge, FL	\$535,851	30	\$17,861	\$674,160			F
332	MBG Renovation	Johnston, IA	\$535,000	61	\$8,800	\$670,000			DB
333	Absolute Repairs and Remodeli	West Chester, PA	\$525,961	423	\$1,243	\$750,000			F
334	Aikey's Home Improvements	Midlothian, VA	\$496,407	52	\$9,546	\$650,000			F
335	Z Remodeling and Home Impro	Louisville, KY	\$495,813	17	\$31,000	\$984,000			KB
336	OnSight Construction	Cincinnati, OH	\$472,891	41	\$11,500	\$450,000	X		DB
337	The Residence Doctor	Spring, TX	\$450,000	45	\$10,000	\$950,000			F
338	Zolotas Bros.	Peabody, MA	\$400,000	18	\$20,000	\$500,000			KB
339	Piedmont Personal Builders	Greensboro, NC	\$356,939	5	\$71,387	\$312,000			F
340	Mark W. Quigley General Contr	Newton, MA	\$350,000	5	\$120,000	\$600,000	X		F
341	KT Construction	Rockford, IL	\$318,090	45	\$7,000	\$530,000			F
342	Bowe Construction	Tillson, NY	\$311,652	10	\$31,652	\$150,203			KB
343	K&J Construction	Dover, NH	\$300,000	5	\$60,000	\$325,000			F
344	Custom Carpentry & Cabinets	Sussex, WI	\$231,500	12	\$19,250	\$250,000			KB
345	Valente Construction	Danielson, CT	\$152,335	39	\$3,906	\$161,000			F